


® If you distribute Rs 5700 among A, B, C
3.5 3 3

and D in the ratio : —:1—:—, then
4 5 6

twice the share of the largest minus
thrice the share of the smallest is.

Ife 3T 5700 9 FT A, B, Cdur D A
1.1.2.13

FHHA: #m#m%a’r
¢:3 4 5:35)

a8 93 RF F Qv @ w9 B T &

foara &t e 9 e TR gl

1000 (b) 800
(c) 900 (d) 700




@ If 4a2 - 13ab + 3b2 = O find a:b.
afe 4a2 - 13ab + 3b2 = 0 §, ¥ a:b AT |

(a) 1:4
(c)1:3




i 4 3 A
34’517
replacement shoud we make for the first

and the last term so that the terms are
s

in proportion.

1 111 .
3,4,5,7Ernqa%q3?-‘ramaﬁwqaa‘rﬁm

HEAT ¥ dge AC fF AR 9g wAWIE A §

Sq |
(a) 1 and 2 (b) 2 and 3

"(prland% @ (d) 3 and 4

are four terms. What




N
3’4’5’7
replacement should we make for the
second terms so that terms are in

proportion.

1111
3725 7 TN T ¥ A g e AR
WEAT ¥ deel A0 & IR 9g FAEIE A @
T

(@) - (b) =

n) 7
\J‘)ﬁ (d'ﬁ

are four terms what




If
A=0.1111....
B=x

C= % & D = 0.1 + 0.06666... and A, B,

C and D are in proportion find the value
of x.

g A=0.1111....

B=x
C= 1 &D-=0.1+0.06666... U A, B,
i 0:1666.- .
C 3R D WA g al x FT AT Xgi3it
(a) % (b) % > \Wﬂ .
!
1 1 P
(c) a (d) 5 6



z—=|6q C. 13, Z,,Jq 13

@ Find x + y + z if each of the following
below are in proportion.

Hf& AATAF TR A gl 06

o 20T

B. 61,y,y,7 qo:. 700
ﬂ

(a) 43.6539 ] 42. 6639

(d)f 6239




@ (Va - Vb)’ +4Vab _5

= — then the value of
(a-Db) 3

a:bis.

a+b_;mm (Va - ~(/a‘) ;45 gma b &1 A 31

(a) 1: 16 (b)1:4

(J‘aug)" (c)4:1 161
(O~ &(—.’ Ja %*\ o

J’Z
JaXB ™ *71 D

<X
|



the ratio of the price now is 11:15 find
fl1 ]
ggell AleIAESFd H AT A 10% ¢ AT &
RYow, 300N s v

The ratio of prices of two motorcycles
/—-m-4-.~5. Three years later, The price of
the first motorcycle price increase by
the original price of the two vehicle.
'?‘S-_"G"@afh gad 1 Fra ¥ 6000% H Fafdr g
uzf 24000, 30000 (b) 28000, 35000

C '0 ’2( and that of the second by 6000 and
&l ArcaEiFal Y Ao FT HAIT 4 : 5 F |
AR 3@ FAT F1 HqIG 11:15 ¢, Q1 arga
(c) 20000, 25000 (d) None of these




If4a-18b +13c=0and 3a+3b-4¢c =0
'1&-' gb'|"3¢'='° then the ratioofa: b : c.

N
Iar3-Yec =0 I 4a - 18b +13c =0 3 3a + 3b-4¢c = 0

(b) 5:3:6
(d)5:6:3



One year ago the ratio of income of A
and B was 3 : 4._The _ratio of last year
and present 3& ‘L.c?i' A and B is
respectively : and 3 o 2 Total
present salary of A and B is Rs 25800.
What is the income of A one year ago.

TF a¥ g A 3R B Y T FT I 3 : 4
a7 A 3 B Y RNed af 3 adA= a¥ Fr

T FAA: 2 : 3 AN 3 : 2 F1 A IR B F
imaém;raa?rzssoommﬁ'aﬁaﬁA#
T FI7 AN

(a) 18,100 (b) 10,600
(c) 10,800 (d) None of these




two times their sum is 44. Find the
ratio of the numbers obtained by
subtracting 3 from the cube of each

Q“ 6 O number.‘
() () IR FEAE 1:2: 3 : 5 & U & &, 3%
3 ¢

¢ AL PN N HT &Y AT 44 81 TAF TN F G A § 3

e W 9T HEAT3HT T He[ard AT H|
(a) 2 : 31 :204 : 999
(b) 3: 13 : 208 : 992

(c) 11: 67 : 219 : 1003
L) 5:61:213:997

® Four numbers areintheratio1:2:3:5



@ Three vessels A, B and C of same
capacity are all full A and B contain
mixture of milk and waterin4 : 1 and 7
: 3. While vessel C contains only pure
milk. The contents of all the vessels are
poured into a larger vessel . after

' drawing 30 litres of the mixture from
Qs S C:| vessel D, the final quantity of water in

vessel D is 40 liters. Find the capacity
( ‘:Eg% ach vessel.
S: \&aﬁa A,B,CHAA AT & ¢ATUT B &

_-Qﬂ'- QY TUT I FT AT 4:1 41 7 : 3 § e
S ~ L HQLWC{%WE@#W%H%H&W#




U J3 dded D & TTell ¥ 1 I a9 Ta+
D & 30 litre AFaa & a1 ada D & 40

litre QTeil ¥<aT § @ &Y dde &l enRar Far

(a) 80 (b) 85
(c) 95 0

®



250 150 |

®

50 /00 [ e
i X' 1 © |f|
Ssﬂ;g’ - » _the quantity from each vessels is drawn

.‘F

L

D

Three vessels P,Q and R contain 400,
250, and 300 liters of mixture petrol
and diesel respectively. The ratio of
petrol and diesel in the vessels P, Q and
R is 5:3, 3:2, 1:1 respectively. If x% of

Olquantity from each vessels is drawn and

into drum. It the quantity of petrol

in the drummrss liters more than
the quantity of dies€l. Then find x ?

die 97 P, Q 94T R & 400, 250 @41 300
e 9 aUT ST FT ANTEP, RAATR A
9SIe YT SISl &7 3He9d HARM: 5:3, 3:.2,



dur1:1 § I8 & UF 9 d x% faser fora
JT T4T 37 & 9 Y AT T ¥ 120 X

ST § Y x FT A AT |
(a) 75 (b) 50
_sr80 (d) 45

S
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Voo ='-3w-Z

Solution P contains three liquids A, B
and C in the ratio 2 : 3 : 5 respectively.
Another solution Q contains A, B and C
in the ratio 5 : 3 : 2 respectively.
Solutions P and Q are mixed in the ratio
7 : 3 to obtain solution R] Now 50% of
solution replaced with another solution
having A and B in the ratio, 7 : 3. The

resulting solution is Z. Fiﬁ@. the
4 P\

percentage of B in solution Z.

P t& fAeae g owd 19 g9 A, B @ C FHE:
2 :3:5 % Iud A 39Rya 81 F IR
R QAN A, BTICHFAM5:3:2 F
HAUTT A 3YRYT g1 gl Rega Pa Q 7 : 3



% 9T A e a1 § o ferae R gred
gIaT 81 31T R FT 50% A U& g Aerda
mAEB,7:3$3@Wﬁ§,#
giavaia Far arar g1 9o w@w S
Reaa yrcd gar g ag Z 81 B i Rewa 2 &

yfaerd AT AT SHifardl
(a) 10% (b) 20%

MO% @ (d) None of these



( )The ratio of income of sajan and sanjana
m is 8:x and their expenditure is in the
Y. espectively. If the total

income of sajan and sanjana together is

S and sajan and sanjana save
‘I'M Rs 75000, and d d
€ ISVO Rs 25000 and Rs 10,000 respectively

then find the value of x.

S RM ‘UYW |l 3R W1 $T AT FT AT 8:x ¢ aUT

3T 4T HAW: 5:3 & HeTUTd A §1 3T kel Y

%:'l. Fo T 75000 F9X ¥, AR Ao H T
\\’ 25000 T4 3R HS=T Y g9d 10,000 I &
L‘ B dl X T #Td AT HIAT|
(a) 2 (b) 4

(c) 6 (d) 8






(i) If ‘¥’ is fourth prtional to 4, 9,
12.
(ii) and y is third proportional to 16 and

36

(iii) and z is m‘e{proportional between
+@8 and 0.18 then find 2x + 3y + 4z

(i) I 'x' 4, 9, 12 FT TqF FAI ¢
(ii) 3R y 16 IR 3§ F1 AdT FATT ¢

(iii) 3R z AT FAREET ¥ b/w 0.9FK
0.18 § aY 2x + 3y + 4z ATd Fl

S\H'Q‘Q-\-O-\\R (8297.48 (b) 108.12

@ (c) None of these (d) 297.12




A person distributes his Pens among for

friends A,B,C and D in the ratio
llll what is the minimum
3 4 5 6

number of pens that the person should

have and also each should have even

number of pens.

U ogfed IR dFN A 99 dedr &

i 1 1 1 3\
A g Gtm#m#wf—ﬂﬁ?

& 9T fFaar 91 g1 =IfRT arfk &X v &+ 9H




In a,b,c are in continued proportion, the
a’+ab+b”

expression —; > 18
b“+bc+c
0b: b ¢ a¢ a, b, c AIAR FAIC g dF FHIHIOT
J 2 1 ab + b
- A TDTD 1AW AT R

2

b";_qc CciP) b® + be + ¢
ozt @
\ —c
Trabotae. @ 3 (d) =

AC+het *&%ﬁ-%

b




In a class rooms one-fifth of the boys
leave the class and the ratio of
remaining boys to girls is 2 : 3. If
further 44 girls leave the class then the
ratio of boys to girls is 5:2. How many
more boys should leave the class so that
the number of boys equals to girls.

UF F&T & 1/5 5% F&T 3135 ¢ ¢ 3R AW

L WYY crewt st st wr aprr 2.+ 3 9t s B

afg 44 wsfrar e o3 Al &, aF T equa

% S T R B e o aneT

4 difF F&T A J5H H FEIT d3fFal & e @
(c) 30 (d) 36

olv|



W

yZ 2X

1:2: 3 3k
)

1:k, k &AW AT AT

(b) 30 @

\J,dﬂ]’ﬂone of these



Cost of an article (raw material + wages )
is 3 times of the value of the raw
of raw material
inc | ratio 3:7 and wages
increase in the ratio 4: 9 the original
cost of an article was J80. Find the new
cost of the articlg

WD 1_:2;0 T TE] I ST Hed 3TN 6T T Fed AT

J ST F1 3 AT ¢l Fod A A a0 3:7 &
(1|Q) It # 3R A # 4:9 & U F g
gl 8, TS IEq AT A aerad 180 At aFg A
g AT |

UMl (b) 310

(c) 210 (d) 510



Ratio of income of A and B is
respectively 4:5. A and B together buy
an article and invest in the ratio 6:5.

Now A left with ith of capital and B left

with Rs 4000. Find the capital of A and
B. and the price of article.

A 3 B # AT FT 391 HAA: 4:5 §1 A 3R
B e v a¥q @ligd ¢ 3R 385 arrd 6:

5$mﬁ%|maaﬂrmm=ﬁﬁ;§ﬁm%

fewar a9ar € 3 B & 919 4000 %. 99 A ¢




Rs 500 are divide between A,B & C such
; -
%mle “¥_2

that 16 increase in —thof A, 70 reduced
C-4—-k 5

-Il"___ e
S in %th share of B. And 4 reduced in

S (K-l 6)+}[ (kﬂo) + S JK‘W ) .

Eth share of C, are equal. Find the

share of A.

2_ ¥ 500 &I AB, 3R C & fi9 3@ y&R Qsiaa
@ fFar ST @ & 2/5 A  RER 7 16 #7 o,

3/4aBF e AFTOTFAINI/S5CHF

(a) 80 60 Bd & 4 Y A Fd W = aw=Ew 39§
(c) 40 (dl 240 A 1 RREwT A HfoT
(a) 80 (b) 160

(c) 40 (d) 240



If 2x+1, x+2, 2 and 5 are in proportion
the what is the mean proportion of 3. 5

(1-x) an}&(-lr-‘-n-)\

e 2x+1, x+2, 2 3R 5 FARYE A §, aF 3.

N’
5 (1-x) 3 8(1+x) FT AT AT I
%@— (a) 5.5 (b) 4.25
c) 5.25 (d) 4.5



If 6x2 + 6y2 = 13xy. What is the ratio of
X toy.

Ife 6x2 + 6y2 = 13xy. ¢ al x IR y &

4 9(3‘—37111-\\,‘,1 o

Inlaxay) R0 (3,
e E)
( xﬁ}%@) =0

3




2 2
@ If a:b = c:d then the value of a2 - b2 is
¢’ +d

2
I a:b=c: d%a’ra+b$rmm

c? +d°
Cx g

(b) a+b

- w@d®

b
A




If a, b, c,d are proportional then
a-b) (a-c)

bc.:-dd _

d

R e (47 (69
ad .

& F A 7T H @
(a)a+c+d dMﬁzd— -C
M(c]a+b+c+d (d)atc-b-d

°
A—ab-acyfpe




